3.6_B Work Period_Quadratic Functions Worksheet #1-s20 March 12, 2020

Are there any Homework Questions you would like to see on the board?

Last day's work:
pp. 185-186 #1bde, 3ac, 4ac, 6, 7 [14, 17, 18]

Today's Assigned Practice includes:

Quadrac Funcons Wkst #1, 1 — 8
(Oponal Wksts 15.7, 14.18 )

N -

~ Show QRF Development?
—Return and Correct Quiz?
~ Return and Correct Summave?
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MCR 3UI Quadratic Functions Worksheet #1 Date:

1. Determine the maximum or minimum value of each quadratic function.

a) f(x)=x"—6x+2 b) f(x)=2(x—4)(x+6)
2. Grapheach function.

a) f(x)=-3x-2)+5 b) f(X)=2(x+4)x-6)

i) For each function, state the vertex, the equation of the axis of symmetry, and the domain and range.
ii) Express each function in standard form.

3. The sum of two numbers is 16. What is the largest possible product between these numbers?

4. Graph f(x)=—+/x+3 anddetermine
a) the domainand range of f(x).

b) the equationof f

5. a) Determine the equation of the inverse of the quadratic function f(x)=x"—4x+3.
b) State the domain andrange of f(x) and its inverse.
c) Sketchthe graphsof f(x) and its inverse.

-
e

6. The revenue for a business is modelled by the function R(x) =-2 .8(.?{ - 10) +15,
wherex is the number of items sold, in thousands, and R(x) is the revenue in thousands of dollars.

a) Expressthe number sold in terms of the revenue.
b) Almostall linear functions have an inverse that is a function, but quadratic functions do not. Explain why.

7. The profit function for a business is given by the equation P(x) = —4x* +16x—7,
where x is the number of items sold, in thousands, and P(x) is dollars in thousands.

Calculate the maximum profit and how many items must be sold to achieve it.

8. The cost per hour of running an assembly line in a manufacturing plant is a function of the number of
items produced per hour. The cost functionis C(x) =0.3x> —1.2x +2,
where C(x) is the cost per hour in thousands of dollars,

and x is the number of items produced per hour, in thousands. Determine the most economical production level.
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